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Ql.6x+5=2x+17

SOLUTION :

We have

6x +5=2x+17

Transposing 2x to LHS and 5 to RHS, we get
6x—-2x=17-5

4x=12

Dividing both sides by 4, we get

.

=X
1

—_
=I5

x=3

Verification :

Substituting x =3 in the given equation, we get
6X3+5=2x3+17

18+5=6+17

23=23

LHS =RHS

Hence, verified.

Q2.2(5x - 3)-32x - 1)=9
SOLUTION :

We have
2(5x=3)=-3(2x-1)=9
Expanding the brackets, we get
2X5x —2%X3 -3X2x+3%X1=9
10x—-6-6x+3=9
10x—6x—-6+3=9
4x-3=9

Adding 3 to both sides, we get
4x—-3+3=9+3

4x=12

Dividing both sides by 4, we get

'S

X
4

—_
NI

Thus, x = 3.

Verification :

Substituting x = 3 in LHS, we get
=2(5%3-3)-3(2%3-1)
=2X12-3 X5

=24-15

=9

LHS =RHS

Hence, verified.

Transposing % to LHS , we get



Multiplying both sides by 6, we get

% X6 =1%6
x=6
Verification :

Substituting x = 6 in the given equation, we get

+1

YN

wlon

)

=2+1
3=3
LHS = RHS

Hence, verified.

2x 3
=X_22 - 1_2
2 5 2
o Sx—4x . —2-3
- 0 2
- x -5
_>ﬁ 5

Multiplying both sides by 10, we get

> X -5
= X x10= 2 %10

=>x=-25
Verification :

Substituting x = -25 in the given equation, we get

-25 3 2(=25)
5 t3=—— -1
=22

- =-10-1
-11=-11

LHS =RHS

Hence, verified.

Qs. %(x—1)=x—3

SOLUTION :

3 —

Z(X —-1)=x-3

On expanding the brackets on both sides, we get
3x 3

=T -iTx3

Transposing %Tx to RHS and 3 to LHS, we get
3

=3_2 =x—
3 T ~X
3

[
Sk

12-3 4x—3x

= ==
4 4



==

N =)
B

Multiplying both sides by 4, we get
=x=9
Verification :

Substituting x = 9 on both sides, we get
3 _

7 ©-1)=9-3

3 _

T [/latex] X 8 =6

6=6

LHS =RHS

Hence, verified.

Q6.3(x-3)=52x+1)

SOLUTION :

3(x=3)=52x+1)

On expanding the brackets on both sides, we get
=>3Xx —3%3 =5X2x + 5%1
=>3x-9=10x+5

Transposing 10x to LHS and 9 to RHS, we get
=>3x—-10x=9+5

=-7x=14

Dividing both sides by 7, we get

7x _ 14

= _= =

7 7
=x=-2
Verification :
Substituting x = -2 on both sides, we get
3(-2-3)=5{2(-2) +1}
3(-5)=5(-3)
-15=-15
LHS =RHS

Hence, verified.

Q7.3x-2(2x-5)=2(x+3)-8
SOLUTION :

3x-2(2x-5)=2(x+3)-8

On expanding the brackets on both sides, we get
=>3x —2X2x +2X5 =2Xx +2%X3 -8
=>3x—4x+10=2x+6-8
=-x+10=2x-2

Transposing x to RHS and 2 to LHS, we get
=>10+2=2x+x

=>3x=12

Dividing both sides by 3, we get

=

[
wlp<

—_
wIN

=x=4
Verification :

Substituting x = 4 on both sides, we get



3(4)-2{2(4)-5}=2(4+3)-8
12-2(8-5)=14-8

12-6=6
6=06
LHS =RHS

Hence, verified.

Q8.x—i——=3+%

SOLUTION :
x_1l_45,x

X—y-773+%

X 1
B e . _
X=% 3+2
— 4X—X—X 6+1
4 2
==x_7
4 2

Multiplying both sides by 4, we get

=>%TX><4=%><4
=2x=14

Dividing both sides by 2, we get

=

NI';;’
le

=x=17
Verification :

Substituting x = 7 on both sides, we get

71 7
——— =34 =

=773 3 1
28-7-2 1247
4 4
n_

4 4

LHS =RHS

Hence, verified.

6Xx—2 3x+5 1
Q. o T8 T3

_ _6x@202)3x45 1
- 18 3
12x—4+3x+5

= =1
= 18 3

15x+1

=>
18

W] —

Multiplying both sides by 18, we get

o 15xtl _1
_>T X 18 3 X 18
=15x+1=6

Transposing 1 to RHS, we get
=>15x=6-1
=>15x=5

Dividing both sides by 15, we get



Verification :

Substituting x = % on both sides, we get

6(2)2 N 3(3)+s

=}
—_
=

Hence, verified.

Qlo.m-mT—1=1- m-2

3

SOLUTION :
_om-l 1— m-2
m-——— -
_. 2m—mtl _ 3-m+2
2 3
__ mtl 5-m
=2 T3
__ mtl _ 5 _m
=373
—m 1l_35 m
2 2 3 3

Transposing - to LHS and 1/2 to RHS, we get
—~m_  m_ 5 1
=3T3 372

3m+2m _ 103
6 6
Multiplying both sides by 6, we get
__ 5m

7
= = XH==X
6 6 6 6

=5m=7

Dividing both sides by 5, we get

Verification :

Substituting m =2 onboth sides, we get

5
% —| Missing close brace  [)— 1}{2}[/latex] = 1 —| Missing close brace | )—2}{3}[/latex]
15 072 1558 W2 11866
5 10 15 5 10 15 10 15 10 15 5 5
LHS =RHS

Hence, verified.

011 5x3—1 _ 2);3—2 -1
SOLUTION :
5x—1 2x—2

3 -5 1

Sx=1-2x+2 _
3



3x+1

=1

Multiplying both sides by 3, we get 3

3xﬁ+l x3=1%3
3
=>3x+1=3

Subtracting 1 from both sides, we get
=>3x+1-1=3-1
=>3x=2

Dividing both sides by 3, we get

Verification:

Substituting x = % in LHS, we get
J>

[Missing close brace -1} {3} [/latex}- -2} {3} atex] = 1

5(2)-1 232

LHS = RHS Hence, verified.

QI12.0.6x+ 3 =0.28x + 1.16

SOLUTION :

0.6x+ 7 =0.28x + 1.16

Transposing 0.28x to LHS and % to RHS, we get
=>06x-028x=116- +

=>032x=1.16-0.8
=>0.32x=0.36
Dividing both sides by 0.32, we get

_. 0.32x _ 036
0.32 0.32
_ _9
=x= 3
Verification:

Substituting x = % on both sides, we get

0.6(3)+ 3 =028(3)+ 1.16
54 .4 _ 25
e +g =3 +1.16

0.675+0.8=0315+1.16
1.475=1.475
LHS =RHS



Hence, verified.

Q13. 0.5x + % =0.25x+7

SOLUTION :

0.5x + % =025x+7

=7

Multiplying both sides by 12, we get

7X _
= X 12=7%12

=>7x=284

Dividing both sides by 7, we get

Verification:

Substituting x = 12 on both sides, we get
0.5(12) + (12)3 =0.25(12) + 7
6+4=3+7

10=10

LHS =RHS

Hence, verified.



